. 3
Find the first 4 non-zero terms of the Taylor series for f(x) = secx about x = —
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Find the radius of convergence of the power series Z~(—~—)—-(——-l~ .

=0 32”(’1!)2
(2D AT 2l ()" \ o
’?_(n—ri)(( D) ) O )i&.f))
Qn—v'l)o—m' D(X D )
'3 Crvr ‘3
w2 2]
- \3("” \iw'\ 0‘ Ll L‘?\?*(‘\)" >

Vit 0O
= i) <
\= H—-'\¢%"

RADIVS ™ %—

SCORE: ___ /15PTS

Lo
Vi O

= lim

Yy o0




7zl P !

¥
Find the sum of the series — +
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Determine if the series Z o converges,
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2n-3 x+7" :
Find the interval of convergence of the power series 2 ( . )( 2 ) SCORE: {1 3ISPTS
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Let f(x)= 7’1

[a] Find a power series for f (x) . Write your answer is sigma notation,
NOTE: You do NOT need to use differentiation NOR the binomial series.
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[b] Find the interval of convergence for the power series for f(x) .
NOTE: You do NOT need to find a limit.
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Use the binomial series to write the Maclaurin series for f{(x) =sin™ x in sigma notation. SCORE: /25 PTS

Simplify all coefficients as shown in lecture.
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